THE MISSOURI COMPROMISE -

A PRIMARY SOURCE ANALYSIS
TEACHER VERSION

High School History * Students will be able to use a primary source to understand a historical event.
* Students will be able to read and interpret tables of data from the 1820 Census.

912 * Students will be able to explain the relationship between the Missouri Compromise and 1820
Census data for Maine and Missouri.

45-60 minutes

United States”

Census STATISTICS

em— Bureau Classrooms Powered by Census Data IN SCHOOLS



THE MISSOURI COMPROMISE - A PRIMARY SOURCE ANALYSIS TEACHER VERSION

Activity Description
Students will examine tables of data from the 1820 Census to understand the implications of
the Missouri Compromise, specifically in Maine and Missouri.

45-60 minutes

* Students will be able to use a primary source to understand a historical event.
» Students will be able to read and interpret tables of data from the 1820 Census.

» Students will be able to explain the relationship between the Missouri Compromise and 1820 Census
data for Maine and Missouri.

* Missouri Compromise * Analyzing a primary source
* |dentifying cause and effect
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THE MISSOURI COMPROMISE - A PRIMARY SOURCE ANALYSIS TEACHER VERSION

Materials Required

The student version of this activity, 6 pages

Calculators

Activity ltem

The following item is part of this activity. The item, its source, and instructions for viewing it online appear at the
end of this teacher version.
Item 1: 1820 Census Tables

For more information to help you introduce your students to the U.S. Census Bureau, read
“Census Bureau 101 for Students.” This information sheet can be printed and passed out to your students as well.

Standards Addressed

See charts below. For more information, read
“"Overview of Education Standards and Guidelines Addressed in Statistics in Schools Activities.”

Common Core State Standards for English Language Arts & Literacy in History/Social Studies,
Science, and Technical Subjects

CCSS.ELA-LITERACY.RH.9-10.7 RH 9-10 - History/ Integration of
Integrate quantitative or technical analysis (e.g., charts, Social Studies Knowledge and Ideas
research data) with qualitative analysis in print or digital

text.

CCSS.ELA-LITERACY.RH.11-12.7 RH 11-12 - History/ Integration of
Integrate and evaluate multiple sources of information Social Studies Knowledge and Ideas

presented in diverse formats and media (e.g., visually,
quantitatively, as well as in words) in order to address a
question or solve a problem.
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THE MISSOURI COMPROMISE - A PRIMARY SOURCE ANALYSIS TEACHER VERSION

UCLA National Standards for History: U.S. History Content Standards

Era 4 - Expansion and Reform  Standard 3: The extension, restriction, and reorganization of political
(1801-1861) democracy after 1800

UCLA National Standards for History: Historical Thinking Standards

Standard 2: Historical Utilize visual and mathematical data. Students will examine tables of 1820
Comprehension Census data to understand the implications of the Missouri Compromise in
Maine and Missouri.

Standard 3: Historical Hypothesize the influence of the past. Students will use 1820 Census data
Analysis and Interpretation to make educated guesses about the Missouri Compromise'’s influence in
Maine and Missouri.

Bloom's Taxonomy

Students will analyze census data for Maine and Missouri to determine the implications of
the Missouri Compromise.

Creating

Evaluating

Analyzing

Applying
Understanding

Remembering
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Teacher Notes
Before the Activity

Students should have a basic understanding of the following ideas and concepts:
Regional tensions in the decades leading up to the Civil War, and the connection between those tensions
and representation in the U.S. Senate and House of Representatives

= The Missouri Compromise (including its repeal and ruling as being unconstitutional) and the connection
between the passage of this legislation and the aforementioned regional tensions about representation

* The Three-Fifths Compromise

Teachers should be aware that Item 1 includes 1820 Census data for Maine and Missouri in easy-to-read tables
and in their original format (alongside the other states and territories that were part of that census).

Teachers could review the “Jefferson method” of apportionment with students. This document
(www.census.gov/population/apportionment/about/history.html) provides more information about this method
and others, dating back to the first census in 1790.

Teachers should lead a class discussion about the connection between slavery and the economy in both the
North and South during the 1820s, asking students:

* What was the main source of income in the North in the 1820s?

« What were the primary industries in the North at that time? What about in the South?

= What were the characteristics, demographics, or backgrounds of the people working in industries in the
South? How about in the North?

During the Activity

Depending on students’ level of background knowledge, this activity should be teacher-led — meaning the
teacher should complete the activity with students, stopping to answer questions and discuss concepts.
Teachers should also review Item 1 with students to make sure they understand the data.

After the Activity

Teachers should lead a class discussion about the advantages and disadvantages of political compromise.

Extension Idea

Teachers could have students read and discuss Thomas Jefferson's April 22,1820, letter to John Holmes
(teachingamericanhistory.org/library/document/letter-to-john-holmes). Holmes was one of the first two senators
from Maine following the Missouri Compromise. In the letter, Jefferson voiced his concern that despite the
recently passed Missouri Compromise legislation, Americans' conflicting views of states’ rights, slavery, westward
expansion, and the powers of the federal government could bring the United States to the verge of civil war.

CENSUS.GOV/SCHOOLS HISTORY | PAGE4


http://www.census.gov/schools
https://www.census.gov/population/apportionment/about/history.html
http://teachingamericanhistory.org/library/document/letter-to-john-holmes

THE MISSOURI COMPROMISE - A PRIMARY SOURCE ANALYSIS TEACHER VERSION

Student Activity

Click here to download a printable version for students.

Activity ltem

The following item is part of this activity and appears at the end of this student version.

* |tem 1: 1820 Census Tables

Student Learning Objectives

| will be able to use a primary source to understand a historical event.
I will be able to read and interpret tables of data from the 1820 Census.

= | will be able to explain the relationship between the Missouri Compromise and 1820 Census data for
Maine and Missouri.

1. In February 1820, the U.S. Congress faced a difficult challenge concerning the regulation of slavery. The
pro-slavery and anti-slavery factions in Congress were intensely divided on whether to admit the Missouri
territory as a state that allowed slavery or as a state that forbade it. At the time, equal numbers of states
(1) permitted and prohibited slavery, so many Americans feared upsetting the balance of “free states”
and “slave states.”

Why was maintaining the balance between free and slave states in the Senate so important? Why did
people fear either a majority of free states or a majority of slave states?

Opponents of slavery in the United States were worried that an increase in congressional power
among slave states would lead to the expansion of slavery. Proponents of slavery had the opposite
concern. Slaveholders claimed that enslaved people were imperative to their economic viability.

2. In March 1820, Congress reached a compromise on the issue by admitting Missouri as a slave state while
also admitting Maine (which had been part of Massachusetts) as a free state. The decision also included
an amendment that forbade slavery in all U.S. land north of the 36°30" parallel — except for land in
Missouri. This legislation became known as the Missouri Compromise, but it was temporary. Why didn't
the Missouri Compromise last?

The Missouri Compromise was later repealed by the Kansas-Nebraska Act and declared
unconstitutional by the U.S. Supreme Court in the Dred Scott decision.
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3. Use Item 1: 1820 Census Tables to answer the following questions and prompts.

a.

What information is presented in the tables? Be as specific as you can, providing examples where
appropriate.

The original table shows the numbers of people in each state and territory that fall into
different categories by age, race, and gender, and by free or enslaved status. Student examples
may vary but could include: The tables for Maine and Missouri include age groups younger than
14; 14 to younger than 26; 26 to younger than 45; and 45 and older.

The 1820 Census began approximately six months after Congress passed the Missouri Compromise.
Looking at the 1820 Census data for the newly formed states of Maine and Missouri, what evidence
do you see of this decision?

Missouri, a slave state according to the Missouri Compromise, has data on the numbers of
enslaved people in the state (the total being in the thousands). There are no data on enslaved
people in Maine, however, because Maine was a free state according to the legislation (meaning
slavery was not permitted there).

Between Maine and Missouri, which state had the greater number of “free colored persons,” and does
this make sense in historical context? Why or why not?

In 1820, Maine had more “free colored persons” (929) than did Missouri (347). Student
answers about historical context may vary but should include that the finding makes sense
because the Missouri Compromise outlawed slavery in Maine.

Look at the final column, labeled “Representative Numbers,” in the Maine and Missouri “free colored
persons” tables. These numbers represent the total population (both free and enslaved) in each state,
adjusted according to the Three-Fifths Compromise, which was used to determine the number of
delegates that state would have in the House of Representatives. In 1821, the ratio for apportionment
was one representative per 40,000 people.

Using this information and what you know about the “Jefferson method” of apportionment, estimate
the number of delegates that Maine and Missouri would have in the House of Representatives in 1821.
Show your work.

Maine would have 7 representatives and Missouri would have 1.

For Maine: 298,335/40,000 = 7.46, which rounds down to 7 per the "Jefferson method”
For Missouri: 62,496/40,000 = 1.56, which rounds down to 1 per the “Jefferson method"”
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4. Based on your calculations from question 3d, do you think the Missouri Compromise was successful in
maintaining a balance of power in Congress? (Keep in mind that both Maine and Missouri, like all other
states, were also allowed two senators in the Senate and that this designation was not dependent on
population.) Explain your answer.

No, because it did not account for different population sizes. Apportionment per the 1820 Census
resulted in unequal representation in the House for the two states — Maine had seven delegates
and Missouri had only one. The balance of power was limited to the Senate.

TEACHER NOTE: The 12 non-slave states had 123 representatives, while the 12 slave states had 90.
The cause for no balance in the House was mainly due to the increase in populations in non-slave
states. Twenty-two of the 32 new representatives came from non-slave states.

5. How are the effects of the Missouri Compromise visible in data from the 1820 Census?

Student answers will vary but should reference data from Iltem 1.
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TEACHER VERSION

Item 1:1820 Census Tables

Males Females

Representative

Males Males | Males | Males of | Females | Females | Females Females Numbers

under 14 of 14 | of 26 45and | under14 | of 14 and | of 26 and | of 45 and State Ponulati
years and and upwards years under 26 | under 45 | upwards Eisis it

under | under
26 45
170 86 91 90 168 15 126 83 298,335
CENSUS.GOV/SCHOOLS HISTORY | PAGE8


http://www.census.gov/schools

THE MISSOURI COMPROMISE - A PRIMARY SOURCE ANALYSIS

TEACHER VERSION

ltem 1: 1820 Census Tables (Continued)

Males Females
Males Males of Males of Males of Females Females Females Females of 45
under 14 14 and 26 and 45 and under 14 of 14 and of 26 and and Upwards
years under 26 under 45 upwards years under 26 under 45 P
2,491 1,5 852 487 2,281 1,461 855 284

Males Females
Representative

Mal Males | Males Numbers

nad(: of 14 | of 26 | Malesof | Females | Females | Females Fernales of 45 i
- 14 and and 45and | under14 | of 14 and | of 26 and and Upwards (Statelfortliation)

eare under | under | upwards years under 26 | under 45 P
Y 26 45

93 40 36 17 62 39 34 26 62,496
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